24.

You are supplied with the following -information. Calculate
overhead hourly rate in respect of productlon departments X Y
and Z.

The primary overheads are :

Production Department - Siervice Department

X —Rs. 7,810 P — Rs. 4,600
Y —Rs. 12,543 Q - Rs. 2,600
Z = Rs. 4,547

Expenses of service departments P and Q are apportioned as
under : -

X ¥ Ze PALQ
Expenses atP 30% 40% 20% - 10%
Expenses at Q 10%  20% 50% 20% —

Estimated working hours are : X.— 1,000, Y — 2,500, Z — 1, 400.

Lﬁ]mm@m eflLipiser &rmas@a;@ QJLQI'EJSSUUI_@GITGIT@J X, Y vpgo Z
2 pusgs glemsefler GopH@sway warlCpir cliggdlen samsdlHs.

e pusH gloop r Goavaus giam
X.— . 7,810 P — @, 4,600
Y — em. 12,543 Q - 5. 2,600
7 - 5. 4,547 '

P wpombd Q Gsamau glenmaafien GFweaygser lﬁlarreu@mrr@j @gja;&@
Q&u_lu_lul_u._l_gg

i SXLY s Zp P
P - en Qeaveysar  30% 40% 20% — .10%
Q - ¢ Qgeveysar 10% 20% 50% 20% —

afituris @ Gaiee Qeiliud Gprid X — 1,000, Y — 2,500, Z — 1,400.
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Time : Three hours

10.

PART A — (10,x 2 =20 marks)

Answer any TEN questions

What 18 Cost Accounting?

cv»u_a;s;aﬁlmso a;ema;a%]u_leu Grsmg) M6V GTGoT6HT?

Mention any two objectives of Cost Accountlng (
DIL&56lene Hewrdd wiadler Gpnsars&oﬂ@ gGsa@b QY ey e S ms.
What do you mean by Cost Unit?

L &sadlana S Gre;irru'e_r,ch Quim(meiT wirg?

Wl)at is Cost Sheet?

SILE5ADOSHTET TENDTED cToTRT?

Cost of Sales Rs. 80 000; Profit at 20% of Sales Ascertain the
profit:

aflpUeman i ssallae . 80, 000;

@ei)rruLb aﬁ]ﬁ)lnememuﬂlsb 20%
Bevmugled seir (196, : ' : '

What do you understand by Reconc111at10n of Cost and

Financial Accounts?

S| sselana -SHatiddwie LD;DQJLD ;_B]@ ;F,]Gmu a;wasa‘;]msmv &rﬂasn@g,a)
LDBl B sifloug! wirg?

State any two objectives of Material Control.

@@u@uwom 85|_®I_ILJITL_Lq_GDT Gprra;a;rmasoﬂm q@g@]m @rymru}@nm
GO He.

What do you mean by ABC Analysis‘?

ABC s (Quri® ey eramuiger Qumper wng?
Distinguish between Direct and Indirect Labour.
G{_F;r'r@g; &G_mlc.puqmcuim@a; &mc_puq Capliupsgs.

Name the methods of measurement of Labour Turnover.

Gg'n@mnmﬁ LDIT‘f_bQJ eissms amaﬁ]@?,aﬂs&r apeppaaar QLGS

Maximum : 75 marks
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11.

12.

13.

14.

15.

Défine Overheads.
Coplswe|seT auenywm.

What s Machine Hour Rate?.

Quingly wanf) Criy aigld erammed eretmean?
PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

D1st1ngulsh between Cost Accounting and Financial Accountmg

SIL_55696n6 a;cma;a%]msmoum 3 Hlena ascuzr__rasa%]u_lmevum
(S@J D (P S5&15. '
Calculate the cost of raw materlals purchased from the following

data : ;
Rs.

‘Opening stock .of raw materials 20,000
Closing stock of raw materials 30,000
Expenses on purchases 10,000
Direct wages - 50,000
Prime cost - o 1,50,000

Slpseir_ aﬂuumgaﬂeﬂ@p@ ep@LIQUMHET 3L &sHelame @a;rrm(g)g,su
S s (6.

¢fb.
STIDU ppeLIQLIThaT SF&S mLiL 20,000
Qmi wpeliQummer grédmLiy -« 30,000
Qararpsad Berar Qs sar 10,000
Corigé smellaar . 50,000
W GlFaa] 1,560,000
Prepare Reconciliation Statement from the follewing :
Rs.
Profit shown as per cost books 1,40,000
Debreciation shown excess in cost books 2,000
Interest on investment received : 1,000
Provision made for Income Tax ' 40,000
Income received for share transfer . 150
Factory overhead under recovered in cost books 3,000
Office expe"nses under recorded in financial books = 1,000
2 62442/CPZ5A/CPC5C/

CPG5B/CPM5B/MAT5B

Gl ng!gei) eflenev GULDMBIGET
=iaTay T Y

26.5.17 - - 100
27.5.17 200 210 -

28.5.17 - - 220
29.5.17 150 230 =

30.5.17 - — : 190
31.5.17 - - 30

Wwealey eubss  p@edlad Qajaﬂ@iu_lmﬂ)eu @penp  ollgiueniuflé
@@u@un@m Qumise  bHEIbD UL B (85 856D &Jnmﬂ]&@m LOEE
CuCr B sansdlanén sunféseb.

From the following particulars, you are required to prepare
statement of labour cost showing the cost per day of 8 hours.

(a) Monthly Salary Rs. 200

(b) ‘Leave saiary 5% of Salary

(¢) Employer’s contribution to Prov1dent Fund 8% of (a) and
(b). ‘

(d) Employer s Contrlbutlon to State Insurance 2.56% of (a) and

(b).

(¢) Pro-rata expenditure on amenities to labour Rs. 17 95 per
head, per month.

() Number of working hours in a month 200. .

Spsal aflghiseahbs 8 wan] Cpyd Genem_ e@m mrepemL
Cerfloranflear  senpll] SiLéssms  sarddiib U iene
Sl ey L. : \

(=1) g sbUeD . 206 ,

(<) @Iy sbLeTD FbLeTSHed 5%

(@) Couma @{Lofrggjum_rﬂ_éh Gg 5@@@ LIGeRALIL (@4) LDLf;Q.]Lb
{<=t)eb 8%

(7F) Galena amfrg@u@_uﬂm 278 STLUSH wnisefliy (@4) yLD’fj)'@JLb
(<2p)—6 2.5%

(2) uemflwreriseErss é{@ﬂ&;GSLIU@LD m&ﬁas@'r R BUBSE WIS
¢5. 17.95,

(oar) LOME Geuenav Gpirid — 200 wenfl.
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&G @a;rr@a;aﬁuuL@mrm eflLipmiisatiadlmbs o _Gaeilena LoD MLD
Garusdmen sname@ih <L sseilena L guLime swinilsg (=)
ep@ UGl LmEhel Hlsie] (<) psaemn Geawa (@) CAsmblherame Claae
() 2 pusH Sl s (o) eflpLimar =) dsallame (o) Garlb OHOILD
(a1) el priener ydlwieuhenm sramilsaeib.

} GiF
epeltummer Qerarpsd Gaugg  2,00,000
gacll . 1,00,000 .
Criyig Ceweysar 20,000

QIO epeLQLIM(HET Frédl (HLIL 40,000
Bnid eperi@uTmer s mLiL 60,000
Agmifihsrame  Cop@ameser By - sgedllid - 20%. (Hliiauras

CupGleaaser Ggmflb .g,m_a;gg)g%]a) 25%. dflhuener opmbd Uil
Gmmf]a“eumer.ew 2 Hubs Si_sasdld 20%. @wnum eflpuieneudled 20%.

The following information took a place in respect of a material
item,

Date Recelpts Rate P. Unit Issues
- Qty, Rs. Qty.
20.5.17 200 200 —
22.5.17 - — - 150
25.56.17 200 220 —
26.5.17 . - - 100
27.5.17 200 210 —
28.5.17 U - 220
29.5.17 150 230 —
30.5.17 = = 190
31.5.17 - - 30

Prepare Stores ledger alc showing the receipts and issues pricing
the material issued on the basis of FIFO.

LB ppel@uimEr  sbupsors  Spsraib BL_Gu &Fésana;aseh

GiomQamenermiiul’ i,

Gadl ‘Qumse. eflevey GULDIEIGET
SieTay ' Slare)
120517 200 200 &
22.5.17 B i W 150
25.5.17 200 220 =
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16.

17.

ereupib ol Lighisedlel mha) sMs G UL g suimhés,

€.

3lL_&&e6dllenev L$5&LD ST g W Blar @emLib 1,40,000

2L ssellane LFsssHd @b Qump Lé]@.e_ﬂ Gaimend 2,000

s Bgrear eul iy Quppsy ] ' 1,000

'Gu@m.rrarr afls@ @as80 THUHSSILLL g 40,000

Qréj@lbrrg’)g)g’,gﬂ@b QUL L @J@LDI‘I’GDTLb. : ‘ 150

S L8l @mg)eurras Blsluce Qg,rrg@m&rrmcu

Gop Glgeayser : : 3,000

Bl lemey qg,g,a;g,@en @m;osurras uglu_lul_n_l_ agueueva;

Qeeveyser 1,000
From the fo]lowing cal'c‘ulate‘Economié Order_ Quantity :
Monthly’Cohsumption - 125 units
Purchaée price of input unit Rs. 25
Monthly carrying cost 1%

Ordering cost per order Rs. 2-2 5

EC1p ﬂ&rr@a;esuud_?ﬁarm aﬂuvm&aﬂe&@pg eﬂa;a;m Qasrrm@og)eu <2460 6T
=Siarellene &atrd el (i,

LSBT BisTey
2 aafl_ () Sevdlanr Qarerpse eeney em. 25 -

125 sj@sadr

wrsrhET r@ss Qeaaib Qewe, 1%
R poamssnen QsTaripsen | (. 22.5
From the under mentioned details find out :

(a) Maximum stock level (b) Minimﬁm stock level and
(c) Re-order level - : .

Normal CQn'sumption per day ‘ 300 units
Maximum consumptioh per da'ly‘ 420 units
Minimum Consumptién per day - 240 units
Re-order Quantity per day 3600 units
Re-order period 10 to 15 déys
Normai re-orders period 12 days
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142k

. Lbml %GU)GUUT HITQOLD

19 6breLl (LD .@S]uryréjsserﬂcﬁ]@‘r_ég (<>1) &uﬁ‘ﬁjg,: FTSE(HLUL  iemey
(<) G@DHS sTEABLY 2iamey (§) woi pman Hloa

(T BITEDETIL @UIEDLITEH BISHTE] -
@5 prevaTw 2 WhsUL s Bsie| 420 SeEaeT
& g;rmmﬁu_l @mg)g,g,ul_& BI&TeY 240 se@s6r
(D) <246 T Y ‘

300 e Gser

3600 e @aer

10 to 15 priser .

QDLIRET DY) ST STaLD 12 priser

Using the following data calculate the wages under TayIOr S
leferentlal Piece Rate System :

Normal rate per hour Rs. 18 ST

~ Standard time per unit : 20 seconds

Di.fferent'ialv rat,é to be épplied :
80% of piece rate below standard
120% of piece rate at or above standard

Worker A produces 1,400 units per day and Worker B produces
1,500 units per day of 8 hours.

&Gtrp Qar@éEsuLL Hiérer Gﬁurjrmssaﬂ'sﬁ]@frfr)@ QLdiefer DT
<@ l8ss S PemliLig el &&&8miq L sneSlenw a;cmrrasa%]@a;
Guieouimen Ggwa;amﬁ] ®(m Lomﬂa;@ ep. 18 o

g_‘,]l_l_ @pnm &( a{a)@a;@ 120 mﬁ]mrnq_asctr ~ Ny P

Gaumul L e eigsane :

e GadnhHHelTHEhsE 2@ cldgsamaluia 80%
Spen BlGHseuTHEsEE <@ oflflsbmaulid 120%

8 wenfl Cryib Glamam_ e Brefler s_ggug,gﬂ A - 1 400 é{@@&;@ﬁ B -
1,500 oev@aar. .

‘Compute Machine Hour Rate. .

Cost of the machine Rs. 16,000
Estimated scrap value Rs. 1,000
Effective working life of the machine 10,000 hours
Running Hours for a 4 weekly period 160 hours
Average repairs for a 4 weekly period Rs. 120

Power 4 units per hour:at a cost of Rs. 25 Paise per hour

Standing charges allocated to machine for a 4 weekly period
Rs. 40. -
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20.

21

- @uipdr wenll eigsms s;smti;a‘é]@a;.‘
QuiSrsden oi_ssedeme em. 16,000
GTATUNTEGL seyseT L e 1,000

QupSTd S sTeb 2 @P&ELD Sjarai 10,000 wenfl Cpirb
4 qurry a;rra)’;_'r,g]g')@ 2 aLps&ELD GHIW ! 160 Losutﬂ Cryd
4 ey sreogdhemen grmefl LpgurTiy Gsway . 120

Benssd @ e @;bvsﬁw@ 4 Sogsd @@ wall Crrsdne
25 Gmu&rreﬁg,m

"4 eumy a;rrepgj,@g’pas_rréﬂ Bene GFeveysar QuIbHTsHHE@ asiulL g,

PART € — (3 x 10 = 30 marks) _
Answ‘e‘r any THREE questions

Explam the steps to be taken for the 1nsta]lat1on of a Costmg
System

caxu_a;a;@ﬂeo)co s;cma;@ulﬁ]rﬂemm quu@g,g, CaemauiLib uq.ﬁsmua;a)m
edlaréEs.

You are required to compile a statement shoWing cost and profit

from the information given, showing clearly; (a) Material
Consumed (b) Prime Cost (c) Works Cost (d) Cost of Productlon
.(e) Cost of Sales (f) Profit and (g) Sales.

Rs.
Material Purchased 2,00,000-
Wages ' 1,00,000
Direct Expenses 20,000

Opening stock of materials 40,000
Closing stock of materials- 60,000

Factory overhead is absorbed at 20% on wages. Administration
overhead is 25% on the works cost. Selling and distribution
overheads are 20% on the cost of production. Profit is' 20% on
sales. = :
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